	BaseLine Item Detail		Carbro Constructors Corp.		Ritacco Construction, Inc.		J. Fletcher Creamer & Son, Inc. & Joseph M. Sanzari, Inc. A Joint Venture		Union Paving & Construction Co., Inc.		Roman E&G Corp.	
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
1 104-0001	1.00 L.S.	Construction Layout	\$35,000.00	\$35,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$75,000.00	\$75,000.00	\$5,000.00	\$5,000.00
2 104-0002	1.00 L.S.	Mobilization	\$570,000.00	\$570,000.00	\$570,000.00	\$570,000.00	\$579,000.00	\$579,000.00	\$680,000.00	\$680,000.00	\$730,000.00	\$730,000.00
3 107-0001	1.00 L.S.	Progress Schedule	\$33,000.00	\$33,000.00	\$10,500.00	\$10,500.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
4 108-0001	5,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00		\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
5 108-N0004	3,000.00 USD	Steel Price Adjustment (No-Bid)	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
6 201-0002	1.00 L.S.	Clearing and Grubbing	\$325,000.00	\$325,000.00	\$325,000.00	\$325,000.00	\$325,000.00	\$325,000.00	\$400,000.00	\$400,000.00	\$425,000.00	\$425,000.00
7 202-0002	5,275.00 C.Y.	Roadway Excavation, Earth	\$1.25	\$6,593.75	\$20.00	\$105,500.00	\$10.00	\$52,750.00	\$40.00	\$211,000.00	\$10.00	\$52,750.00
8 202-0007	970.00 C.Y.	Stripping Topsoil	\$1.00	\$970.00	\$15.00	\$14,550.00	\$10.00	\$9,700.00	\$20.00	\$19,400.00	\$15.00	\$14,550.00
9 202-0009	75,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00
10 203-0001	4,695.00 C.Y.	Embankment, Common	\$0.50	\$2,347.50	\$20.00	\$93,900.00	\$10.00	\$46,950.00	\$6.00	\$28,170.00	\$9.00	\$42,255.00
11 203-0002	105.00 C.Y.	Embankment, Grade A	\$135.00	\$14,175.00	\$80.00	\$8,400.00	\$90.00	\$9,450.00	\$130.00	\$13,650.00	\$200.00	\$21,000.00
12 203-N0002	620.00 C.Y.	Controlled Low Strength Material	\$400.00	\$248,000.00	\$255.00	\$158,100.00	\$475.00	\$294,500.00	\$300.00	\$186,000.00	\$200.00	\$124,000.00
13 207-0004	90.00 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$150.00		\$100.00	\$9,000.00	\$80.00	\$7,200.00	\$160.00	\$14,400.00	\$120.00	\$10,800.00
14 207-N0006	396.00 Ton	Riprap Stone Scour Hole, 12in Thick (D50-6in)	\$150.00		\$50.00	\$19,800.00	\$80.00	\$31,680.00	\$110.00	\$43,560.00	\$155.00	\$61,380.00
15 207-N0008	36 Ton	Riprap Stone Scour Hole, 24in Thick (D50=12in)	\$300.00	\$10,800.00	\$100.00	\$3,600.00	\$90.00	\$3,240.00	\$100.00	\$3,600.00	\$250.00	\$9,000.00
16 208-0006	50.00 C.Y.	Hay Bales	\$34.00	\$1,700.00	\$60.00	\$3,000.00	\$75.00	\$3,750.00	\$150.00	\$7,500.00	\$10.00	\$500.00
17 208-0008	7,875.00 L.F.	Heavy Duty Silt Fence	\$14.00	\$110,250.00	\$7.00	\$55,125.00	\$9.00	\$70,875.00	\$7.00	\$55,125.00	\$25.00	\$196,875.00
18 208-0022	24.00 Each	Inlet Filter, Type 2	\$50.00		\$200.00	\$4,800.00	\$225.00	\$5,400.00	\$250.00	\$6,000.00	\$55.00	\$1,320.00
19 208-0024 20 208-N0001	1,755.00 Ton	Construction Driveway Concrete Washout Facility	\$180.00 \$500.00		\$55.00	\$96,525.00	\$80.00	\$140,400.00	\$75.00	\$131,625.00 \$20,000.00	\$300.00	\$526,500.00 \$4,000.00
	2.00 Each	,	•		\$4,500.00	\$9,000.00	\$1,500.00	\$3,000.00	\$10,000.00		\$2,000.00	
21 208-N0002	6 Each	Sediment Control Bags	\$250.00	\$1,500.00	\$550.00	\$3,300.00	\$150.00	\$900.00	\$400.00	\$2,400.00	\$100.00	\$600.00
22 208-N0009 23 208-N0016	2 Each	Oil-Only Emergency Spill Kit, Type 1 Stream Diversion - Location No. 1	\$1,000.00	\$2,000.00	\$550.00	\$1,100.00 \$250,000.00	\$100.00 \$160,000.00	\$200.00	\$1,000.00	\$2,000.00	\$5,000.00 \$350,000.00	\$10,000.00 \$350,000.00
24 208-N0015 24 208-N0017	1 L.S. 1 L.S.		\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.00	\$160,000.00	\$160,000.00	\$300,000.00	\$300,000.00	\$350,000.00	\$350,000.00
	1.00 L.S.	Stream Diversion - Location No. 2 Stream Diversion - Location No. 3	\$200,000.00	\$200,000.00 \$200,000.00	\$250,000.00			\$125,000.00	\$250,000.00 \$250,000.00	\$250,000.00		
25 208-N0018 26 208-N0019	1.00 L.S. 1 L.S.	Stream Diversion - Location No. 3 Stream Diversion - Location No. 4	\$200,000.00 \$225,000.00	\$200,000.00	\$250,000.00	\$250,000.00	\$150,000.00	\$150,000.00		\$250,000.00	\$350,000.00	\$350,000.00
27 211-0001	5,565.00 L.F.	Temporary Orange Plastic Fence	\$225,000.00	\$44,520.00	\$250,000.00 \$3.00	\$250,000.00 \$16,695.00	\$125,000.00 \$1.00	\$125,000.00 \$5,565.00	\$250,000.00 \$6.00	\$250,000.00 \$33,390.00	\$350,000.00 \$5.00	\$350,000.00 \$27,825.00
28 213-0006	100,000.00 USD	Disposal of Regulated Material (No-Bid)	\$1.00	\$100,000.00	\$3.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
29 301-N0002	440 S.Y.	Aggregate Base Course, 8 in Thick	\$38.00	\$16,720.00	\$20.00	\$8,800.00	\$75.00	\$33,000.00	\$27.00	\$10,000.00	\$60.00	\$26,400.00
30 302-0002	455 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$230.00		\$250.00	\$113,750.00	\$280.00	\$127,400.00	\$200.00	\$91,000.00	\$275.00	\$125,125.00
31 302-0004	940 Ton	Hot Mix Asphalt 25M64 Base Course	\$154.00		\$200.00	\$113,730.00	\$230.00	\$216,200.00	\$165.00	\$155,100.00	\$175.00	\$164,500.00
32 302-0004	5,585.00 L.F.	Polymerized Joint Adhesive	\$1.00		\$1.00	\$5,585.00	\$1.00	\$5,585.00	\$0.70	\$3,909.50	\$1.50	\$8,377.50
33 302-N0007	315 GAL	Trackless Tack Coat	\$16.00		\$10.00	\$3,150.00	\$10.00	\$3,150.00	\$16.00	\$5,040.00	\$12.00	\$3,780.00
34 303-0001	1,125.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$40.00		\$40.00	\$45,000.00	\$45.00	\$50,625.00	\$47.00	\$52,875.00	\$30.00	\$33,750.00
35 305-0006	3,315.00 S.Y.	Pavement Removal, 2in Depth	\$12.00	\$39,780.00	\$15.00	\$49,725.00	\$17.00	\$56,355.00	\$11.00	\$36,465.00	\$16.00	\$53,040.00
36 401-0012	35.00 C.Y.	Concrete in Wingwall	\$4,500.00	\$157,500.00	\$1,500.00	\$52,500.00	\$2,600.00	\$91,000.00	\$1,200.00	\$42,000.00	\$1,900.00	\$66,500.00
37 401-0035	430.00 Each	Drill and Grout Reinforcement Bars	\$70.00	\$30,100.00	\$35.00	\$15,050.00	\$55.00	\$23,650.00	\$30.00	\$12,900.00	\$150.00	\$64,500.00
38 401-0067	725 LB	Reinforcement Steel, Epoxy Coated	\$5.00	\$3,625.00	\$4.00	\$2,900.00	\$6.00	\$4,350.00	\$4.00	\$2,900.00	\$9.00	\$6,525.00
39 401-N0005	360 C.F.	Grout	\$10.00		\$70.00	\$25,200.00	\$125.00	\$45,000.00	\$300.00	\$108,000.00	\$230.00	\$82,800.00
40 415-0001	8,450.00 S.F.	Temporary Sheeting	\$1.00	\$8,450.00	\$1.00	\$8,450.00	\$1.00	\$8,450.00	\$5.00	\$42,250.00	\$3.00	\$25,350.00
41 417-0013	310.00 S.F.	Spall Repair, Type 1	\$600.00	\$186,000.00	\$200.00	\$62,000.00	\$220.00	\$68,200.00	\$150.00	\$46,500.00	\$100.00	\$31,000.00
42 418-N0093	1.00 L.S.	Temporary Support, Location No. 1	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00
43 418-N0095	1.00 L.S.	Temporary Support, Location No. 3	\$28,000.00	\$28,000.00	\$75,000.00	\$75,000.00	\$70,000.00	\$70,000.00	\$60,000.00	\$60,000.00	\$75,000.00	\$75,000.00
44 418-N0096	1.00 L.S.	Temporary Support, Location No. 4	\$32,000.00	\$32,000.00	\$100,000.00	\$100,000.00	\$90,000.00	\$90,000.00	\$80,000.00	\$80,000.00	\$100,000.00	\$100,000.00
45 499-N0151	273.00 L.F.	Install Steel Arch Pipe Liner, Location No. 1	\$1,700.00		\$2,000.00	\$546,000.00	\$2,750.00	\$750,750.00	\$4,650.00	\$1,269,450.00	\$3,200.00	\$873,600.00
46 499-N0152	148 L.F.	Install Steel Arch Pipe Liner, Location No. 2	\$1,700.00	\$251,600.00	\$2,000.00	\$296,000.00	\$2,700.00	\$399,600.00	\$4,650.00	\$688,200.00	\$3,800.00	\$562,400.00
47 499-N0153	192 L.F.	Install Steel Arch Pipe Liner, Location No. 3	\$1,800.00	\$345,600.00	\$2,100.00	\$403,200.00	\$2,925.00	\$561,600.00	\$4,650.00	\$892,800.00	\$5,000.00	\$960,000.00
48 499-N0154	150 L.F.	Install Steel Arch Pipe Liner, Location No. 4	\$2,000.00	\$300,000.00	\$2,100.00	\$315,000.00	\$2,800.00	\$420,000.00	\$4,650.00	\$697,500.00	\$3,400.00	\$510,000.00
49 499-N0155	910,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 1 (No-Bid)	\$1.00	\$910,000.00	\$1.00	\$910,000.00	\$1.00	\$910,000.00	\$1.00	\$910,000.00	\$1.00	\$910,000.00
50 499-N0156	530,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 2 (No-Bid)	\$1.00	\$530,000.00	\$1.00	\$530,000.00	\$1.00	\$530,000.00	\$1.00	\$530,000.00	\$1.00	\$530,000.00
51 499-N0157	475,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 3 (No-Bid)	\$1.00	\$475,000.00	\$1.00	\$475,000.00	\$1.00	\$475,000.00	\$1.00	\$475,000.00	\$1.00	\$475,000.00
52 499-N0158	400,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 4 (No-Bid)	\$1.00	\$400,000.00	\$1.00	\$400,000.00	\$1.00	\$400,000.00	\$1.00	\$400,000.00	\$1.00	\$400,000.00
53 502-0004	150 L.F.	18 Inch HDPE Pipe	\$250.00	\$37,500.00	\$110.00	\$16,500.00	\$185.00	\$27,750.00	\$250.00	\$37,500.00	\$130.00	\$19,500.00
54 502-0005	60 L.F.	15 in Reinforced Concrete Pipe, Class III	\$160.00	\$9,600.00	\$180.00	\$10,800.00	\$130.00	\$7,800.00	\$400.00	\$24,000.00	\$210.00	\$12,600.00
55 502-0006	635 L.F.	18 in Reinforced Concrete Pipe, Class III	\$200.00	\$127,000.00	\$110.00	\$69,850.00	\$134.00	\$85,090.00	\$110.00	\$69,850.00	\$100.00	\$63,500.00
56 502-0029	3 Each	18 Inch HDPE Flared End Section	\$6,500.00	\$19,500.00	\$1,250.00	\$3,750.00	\$1,000.00	\$3,000.00	\$5,000.00	\$15,000.00	\$430.00	\$1,290.00
57 502-0030	270 L.F.	15 Inch HDPE Pipe, Type C	\$265.00	\$71,550.00	\$120.00	\$32,400.00	\$180.00	\$48,600.00	\$200.00	\$54,000.00	\$155.00	\$41,850.00
58 502-0040	60.00 L.F.	18 Inch HDPE Pipe, Type C	\$310.00	\$18,600.00	\$140.00	\$8,400.00	\$185.00	\$11,100.00	\$200.00	\$12,000.00	\$200.00	\$12,000.00

	BaseLine Item Detail		Carbro Constructors Corp.		Ritacco Construction, Inc.		J. Fletcher Creamer & Son, Inc. & Joseph M. Sanzari, Inc. A Joint Venture		h Union Paving & Construction Co., Inc.		Roman E&G Corp.	
Item No. Unit Code	Qty UOM	Description		Line Total	Unit Price	Line Total		Line Total	Unit Price	Line Total		Line Total
59 502-0042	85.00 L.F.	30 Inch Ductile Iron Pipe	\$800.00	\$68,000.00	\$400.00	\$34,000.00	\$550.00	\$46,750.00	\$500.00	\$42,500.00	\$630.00	\$53,550.00
60 503-0005	6 Each	Reconstructed Inlet, Type D2, Using Existing Grate and Frame	\$5,800.00	\$34,800.00	\$2,000.00	\$12,000.00		\$16,500.00	\$2,300.00	\$13,800.00	\$4,600.00	\$27,600.00
61 503-0011	3 Each	Manhole, Type P-1	\$7,800.00	\$23,400.00	\$9,500.00	\$28,500.00		\$22,500.00	\$10,000.00	\$30,000.00	\$10,000.00	\$30,000.00
62 503-0023	4 Each	Reconstructed Inlet, Type D3, Using Existing Grate And Frame	\$6,000.00	\$24,000.00	\$3,000.00	\$12,000.00		\$15,000.00	\$1,500.00	\$6,000.00	\$4,600.00	\$18,400.00
63 503-0032	1 Each	Reconstructed Manhole, Type P-1, Using Existing Cover And Frame	\$4,500.00	\$4,500.00	\$2,000.00	\$2,000.00		\$3,750.00	\$2,000.00	\$2,000.00	\$4,600.00	\$4,600.00
64 503-0042	1 Each	Reconstructed Manhole, Type P-1, Using New Cover and Frame	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	\$2,500.00	\$2,500.00	\$5,200.00	\$5,200.00
65 504-0011 66 506-0001	125.00 C.Y.	Incidental Concrete	\$1,100.00 \$90.00	\$137,500.00	\$500.00	\$62,500.00		\$125,000.00	\$500.00	\$62,500.00	\$250.00 \$40.00	\$31,250.00
67 510-0010	310.00 L.F. 6 Each	Concrete Curb, Type A Beam Guide Rail Blockout	\$27.00	\$27,900.00 \$162.00	\$30.00 \$25.00	\$9,300.00 \$150.00	· · · · · · · · · · · · · · · · · · ·	\$21,700.00 \$48.00	\$55.00 \$27.00	\$17,050.00 \$162.00	\$60.00	\$12,400.00 \$360.00
68 510-0031	1,840.00 L.F.	Removal of Beam Guide Rail	\$2.20	\$4,048.00	\$3.00	\$5,520.00		\$27,600.00	\$3.00	\$5,520.00	\$10.00	\$18,400.00
69 510-N0080	1,700.00 L.F.	Beam Guide Rail, Pre-Stained	\$63.00	\$107,100.00	\$60.00	\$102,000.00	•	\$96,900.00	\$60.00	\$102,000.00	\$100.00	\$170,000.00
70 510-N0082	3 Each	Beam Guide Rail Anchorage, Pre-Stained	\$2,000.00	\$6,000.00	\$2,250.00	\$6,750.00		\$9,600.00	\$2,000.00	\$6,000.00	\$3,300.00	\$9,900.00
71 510-N0087	6 Each	Beam Guide Rail Post, Pre-stained	\$156.00	\$936.00	\$170.00	\$1,020.00		\$2,100.00	\$175.00	\$1,050.00	\$210.00	\$1,260.00
72 510-N0088	3 Each	Tangent Guide Rail Terminal, Pre-Stained	\$7,100.00	\$21,300.00	\$5,750.00	\$17,250.00	\$7,200.00	\$21,600.00	\$6,800.00	\$20,400.00	\$7,500.00	\$22,500.00
73 510-N0089	25.00 L.F.	Beam Guide Rail Element, Pre-Stained	\$27.00	\$675.00	\$40.00	\$1,000.00	\$70.00	\$1,750.00	\$30.00	\$750.00	\$200.00	\$5,000.00
74 515-0003	6.00 Each	Delineator, Type PA-W	\$165.00	\$990.00	\$80.00	\$480.00	\$165.00	\$990.00	\$300.00	\$1,800.00	\$180.00	\$1,080.00
75 515-0006	7.00 Each	Delineator, Type PA-Y	\$165.00	\$1,155.00	\$80.00	\$560.00	\$165.00	\$1,155.00	\$300.00	\$2,100.00	\$180.00	\$1,260.00
76 516-0005	3,885.00 L.F.	Striping and Marking Removal, Hydromilling	\$1.00	\$3,885.00	\$1.75	\$6,798.75	\$1.25	\$4,856.25	\$1.50	\$5,827.50	\$2.00	\$7,770.00
77 516-0006	160 L.F.	Striping and Marking Removal, Mechanical	\$2.20	\$352.00	\$1.75	\$280.00	\$1.25	\$200.00	\$3.00	\$480.00	\$2.00	\$320.00
78 516-0008	1,935.00 L.F.	Traffic Stripes, Long-Life, Epoxy Resin	\$1.40	\$2,709.00	\$1.85	\$3,579.75	· ·	\$2,418.75	\$2.00	\$3,870.00	\$2.00	\$3,870.00
79 516-0009	2,775.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$1.40	\$3,885.00	\$1.85	\$5,133.75		\$4,440.00	\$2.00	\$5,550.00	\$2.00	\$5,550.00
80 516-0013	130 S.F.	Traffic Markings, Symbols, Long-Life, Thermoplastic	\$11.00	\$1,430.00	\$10.00	\$1,300.00	· ·	\$1,040.00	\$15.00	\$1,950.00	\$12.00	\$1,560.00
81 517-0002	1 L.S.	Furnish Field Office, Type B	\$52,500.00	\$52,500.00	\$15,000.00	\$15,000.00		\$32,500.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00
82 517-0008	24 Mnth		\$150.00	\$3,600.00	\$2,000.00	\$48,000.00		\$90,000.00	\$500.00	\$12,000.00	\$5,400.00	\$129,600.00
83 517-0013 84 522-0001	25,000.00 USD 20 Each	Furnish Office Supplies (No-Bid) Test Pits	\$1.00 \$500.00	\$25,000.00 \$10,000.00	\$1.00 \$100.00	\$25,000.00 \$2,000.00		\$25,000.00 \$1,000.00	\$1.00 \$800.00	\$25,000.00 \$16,000.00	\$1.00 \$720.00	\$25,000.00 \$14,400.00
85 525-0005	1 Each	Mile Marker, Type RP	\$275.00	\$275.00	\$225.00	\$2,000.00	•	\$275.00	\$275.00	\$10,000.00	\$300.00	\$300.00
86 525-0006	6 Each	Mile Marker, Type MP	\$275.00	\$1,650.00	\$225.00	\$1,350.00	\$275.00	\$1,650.00	\$275.00	\$1,650.00	\$300.00	\$1,800.00
87 532-0001	800,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$800,000.00	\$1.00	\$800,000.00	\$1.00	\$800,000.00	\$1.00	\$800,000.00	\$1.00	\$800,000.00
88 599-N0047	680,000.00 USD	Polyurethane Grout (No-Bid)	\$1.00	\$680,000.00	\$1.00	\$680,000.00		\$680,000.00	\$1.00	\$680,000.00	\$1.00	\$680,000.00
89 603-0014	1.00 L.S.	Temporary Lighting Systems	\$80,000.00	\$80,000.00	\$40,000.00	\$40,000.00	•	\$1.00	\$0.01	\$0.01	\$110,000.00	\$110,000.00
90 703-0001	17,535.00 S.Y.	Topsoil	\$5.00			\$70,140.00	\$3.75	\$65,756.25	\$0.01	\$175.35		\$70,140.00
91 704-0001	8,435.00 S.Y.	Seeding, Type A	\$1.65	\$13,917.75	\$1.50	\$12,652.50	\$2.75	\$23,196.25	\$2.50	\$21,087.50	\$5.00	
92 704-0002	5,520.00 S.Y.	Seeding, Type B	\$1.65	\$9,108.00	\$1.50	\$8,280.00	\$2.50	\$13,800.00	\$2.00	\$11,040.00	\$1.00	\$5,520.00
93 704-0005	330 S.Y.	Seeding, Type W	\$6.60	\$2,178.00	\$6.00	\$1,980.00	\$2.25	\$742.50	\$2.00	\$660.00	\$3.50	\$1,155.00
94 704-0013	3,250.00 S.Y.	Seeding, Type P	\$2.00	\$6,500.00	•		\$2.90	\$9,425.00	\$2.70	\$8,775.00	\$3.00	
95 705-0007		Planting, Red Maple (Acer Rubrum)	\$690.00					\$15,600.00			· ·	
96 705-0008		Planting, Sweetgum (Liquidambar Styraciflua)	\$10.00					\$15,600.00		\$12,600.00		
97 705-0025		Planting, Blackgum (Nyssa Sylvatica)	\$10.00					\$15,600.00		\$12,600.00		
98 706-0001	3,090.00 S.Y.	Permanent Soil Stabilization Matting	\$7.00				·	\$18,540.00		\$18,540.00		
99 706-0002	3,860.00 S.Y.	Temporary Soil Stabilization Matting	\$5.00					\$16,405.00		\$15,440.00		
100 801-0001 101 801-0002	1 L.S. 3,140.00 L.F.	Furnishing Traffic Control Devices Furnishing Precast Concrete Construction Barrier	\$250,000.00 \$80.00					\$310,000.00 \$109,900.00		\$668,130.00 \$125,600.00		
102 801-0003	3,140.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$48.00					\$87,920.00		\$109,900.00		
102 801-0003	1,610.00 M.H.	Traffic Protection Patrol, Part-Time	\$1.00					\$1,610.00		\$105,500.00		
104 801-0009	3 Each	Furnishing Portable Variable Message Sign	\$1,000.00					\$37,500.00		\$15,000.00		
105 801-0013	7 Each	Furnishing Truck with Mounted Attenuator	\$1,500.00					\$52,500.00		\$10,500.00		
106 801-0015		-	\$500.00					\$7.00		\$700.00		
107 801-0021	7 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24 Inch Wide	\$11,000.00	\$77,000.00	\$12,500.00	\$87,500.00	\$10,000.00	\$70,000.00	\$15,000.00	\$105,000.00	\$40,000.00	\$280,000.00
108 801-0022	7 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$3,000.00					\$21,000.00		\$28,000.00		
109 801-0023	16 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$500.00		•		·			\$16,000.00		
110 803-0032	20,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
111 803-N0001	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$57,000.00	\$57,000.00 \$10,832,507.00		\$200,000.00 \$10,868,000.00		\$50,000.00 \$10,981,757.00		\$1,000.00 \$13,139,037.96		\$80,000.00 \$14,100,542.50

BaseLine Item Detail			George Harms C	George Harms Construction Co., Inc.		Mount Construction Co., Inc.		Green Construction, Inc.		Montana Construction Corp Inc.	
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	
1 104-0001	1.00 L.S.	Construction Layout	\$190,000.00	\$190,000.00	\$100,000.00	\$100,000.00	\$75,000.00	\$75,000.00	\$150,000.00	\$150,000.00	
2 104-0002	1.00 L.S.	Mobilization	\$725,000.00	\$725,000.00	\$1,000,000.00	\$1,000,000.00	\$1,751,719.52	\$1,751,719.52	\$600,000.00	\$600,000.00	
3 107-0001	1.00 L.S.	Progress Schedule	\$20,000.00		\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$1.00	\$1.00	
4 108-0001	5,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00		\$1.00	\$5,000.00		\$5,000.00	\$1.00	\$5,000.00	
5 108-N0004	3,000.00 USD	Steel Price Adjustment (No-Bid)	\$1.00		\$1.00	\$3,000.00		\$3,000.00	\$1.00	\$3,000.00	
6 201-0002	1.00 L.S.	Clearing and Grubbing	\$415,000.00		\$525,796.00	\$525,796.00	\$175,000.00	\$175,000.00	\$668,894.00	\$668,894.00	
7 202-0002	5,275.00 C.Y.	Roadway Excavation, Earth	\$55.00		\$60.00	\$316,500.00		\$184,625.00	\$32.00	\$168,800.00	
8 202-0007	970.00 C.Y.	Stripping Topsoil	\$62.00		\$72.00	\$69,840.00	•	\$33,950.00	\$32.00	\$31,040.00	
9 202-0009	75,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00		\$1.00	\$75,000.00		\$75,000.00	\$1.00	\$75,000.00	
10 203-0001	4,695.00 C.Y.	Embankment, Common	\$22.00		\$30.00	\$140,850.00	\$30.00	\$140,850.00	\$1.00	\$4,695.00	
11 203-0002	105.00 C.Y.	Embankment, Grade A	\$75.00		\$115.00	\$12,075.00	\$100.00	\$10,500.00	\$1.00	\$105.00	
12 203-N0002	620.00 C.Y.	Controlled Low Strength Material	\$475.00	· ·	\$375.00	\$232,500.00	\$400.00	\$248,000.00	\$300.00	\$186,000.00	
13 207-0004	90.00 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$210.00		\$140.00	\$12,600.00	\$140.00	\$12,600.00	\$80.00	\$7,200.00	
14 207-N0006	396.00 Ton	Riprap Stone Scour Hole, 12in Thick (D50-6in)	\$190.00		\$142.00	\$56,232.00	\$140.00	\$55,440.00	\$95.00	\$37,620.00	
15 207-N0008	36 Ton	Riprap Stone Scour Hole, 24in Thick (D50=12in)	\$210.00		\$165.00	\$5,940.00	\$140.00	\$5,040.00	\$95.00	\$3,420.00	
16 208-0006	50.00 C.Y.	Hay Bales	\$90.00		\$70.00	\$3,500.00	\$50.00	\$2,500.00	\$1.00	\$50.00 \$7.875.00	
17 208-0008 18 208-0022	7,875.00 L.F. 24.00 Each	Heavy Duty Silt Fence Inlet Filter, Type 2	\$10.00 \$250.00		\$7.00 \$300.00	\$55,125.00 \$7,200.00	\$8.00 \$200.00	\$63,000.00 \$4,800.00	\$1.00 \$1.00	\$7,875.00 \$24.00	
18 208-0022 19 208-0024	1,755.00 Ton		\$250.00							•	
20 208-N0001	2.00 Each	Construction Driveway Concrete Washout Facility	\$100.00		\$105.00 \$2,500.00	\$184,275.00 \$5,000.00	\$50.00 \$4,250.00	\$87,750.00 \$8,500.00	\$1.00 \$7,500.00	\$1,755.00 \$15,000.00	
21 208-N0001 21 208-N0002		•							\$250.00		
22 208-N0009	6 Each 2 Each	Sediment Control Bags Oil-Only Emergency Spill Kit, Type 1	\$1,500.00 \$2,000.00		\$250.00 \$600.00	\$1,500.00 \$1,200.00	\$1,400.00 \$1,500.00	\$8,400.00 \$3,000.00	\$1,250.00	\$1,500.00 \$2,500.00	
23 208-N0016	1 L.S.	Stream Diversion - Location No. 1	\$510,000.00		\$500,000.00	\$500,000.00	\$1,500.00	\$175,000.00	\$400,000.00	\$400,000.00	
24 208-N0017	1 L.S.	Stream Diversion - Location No. 2	\$447,000.00		\$500,000.00	\$500,000.00	\$175,000.00	\$175,000.00	\$300,000.00	\$300,000.00	
25 208-N0017 25 208-N0018	1.00 L.S.	Stream Diversion - Location No. 3	\$475,000.00		\$500,000.00	\$500,000.00	\$175,000.00	\$175,000.00	\$300,000.00	\$300,000.00	
26 208-N0019	1.00 L.S. 1 L.S.	Stream Diversion - Location No. 4	\$460,000.00		\$500,000.00	\$500,000.00	\$175,000.00	\$175,000.00	\$300,000.00	\$300,000.00	
27 211-0001	5,565.00 L.F.	Temporary Orange Plastic Fence	\$5.50		\$300,000.00	\$83,475.00		\$38,955.00	\$1.00	\$5,565.00	
28 213-0006	100,000.00 USD	Disposal of Regulated Material (No-Bid)	\$1.00		\$1.00	\$100,000.00	· · · · · · · · · · · · · · · · · · ·	\$100,000.00	\$1.00	\$100,000.00	
29 301-N0002	440 S.Y.	Aggregate Base Course, 8 in Thick	\$35.00		\$62.00	\$27,280.00	\$40.00	\$17,600.00	\$1.00	\$440.00	
30 302-0002	455 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$150.00		\$315.00	\$143,325.00	\$200.00	\$91,000.00	\$175.00	\$79,625.00	
31 302-0004	940 Ton	Hot Mix Asphalt 25M64 Base Course	\$180.00		\$215.00	\$202,100.00	\$200.00	\$188,000.00	\$175.00	\$164,500.00	
32 302-0071	5,585.00 L.F.	Polymerized Joint Adhesive	\$1.20		\$3.00	\$16,755.00	· ·	\$2,792.50	\$1.25	\$6,981.25	
33 302-N0007	315 GAL	Trackless Tack Coat	\$9.50		\$5.00	\$1,575.00	\$4.00	\$1,260.00	\$10.00	\$3,150.00	
34 303-0001	1,125.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$75.00		\$65.00	\$73,125.00	\$50.00	\$56,250.00	\$60.00	\$67,500.00	
35 305-0006	3,315.00 S.Y.	Pavement Removal, 2in Depth	\$12.00		\$15.00	\$49,725.00	\$40.00	\$132,600.00	\$12.00	\$39,780.00	
36 401-0012	35.00 C.Y.	Concrete in Wingwall	\$3,750.00		\$5,000.00	\$175,000.00	\$2,250.00	\$78,750.00	\$1,100.00	\$38,500.00	
37 401-0035	430.00 Each	Drill and Grout Reinforcement Bars	\$70.00	\$30,100.00	\$100.00	\$43,000.00	\$60.00	\$25,800.00	\$55.00	\$23,650.00	
38 401-0067	725 LB	Reinforcement Steel, Epoxy Coated	\$20.00	\$14,500.00	\$5.00	\$3,625.00	\$4.00	\$2,900.00	\$3.00	\$2,175.00	
39 401-N0005	360 C.F.	Grout	\$345.00	\$124,200.00	\$160.00	\$57,600.00	\$65.00	\$23,400.00	\$100.00	\$36,000.00	
40 415-0001	8,450.00 S.F.	Temporary Sheeting	\$0.01	\$84.50	\$1.00	\$8,450.00	\$70.00	\$591,500.00	\$90.00	\$760,500.00	
41 417-0013	310.00 S.F.	Spall Repair, Type 1	\$390.00	\$120,900.00	\$500.00	\$155,000.00	\$500.00	\$155,000.00	\$250.00	\$77,500.00	
42 418-N0093	1.00 L.S.	Temporary Support, Location No. 1	\$7,000.00		\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	
43 418-N0095	1.00 L.S.	Temporary Support, Location No. 3	\$15,000.00		\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$75,000.00	\$75,000.00	
44 418-N0096	1.00 L.S.	Temporary Support, Location No. 4	\$20,000.00		\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$110,000.00	\$110,000.00	
45 499-N0151	273.00 L.F.	Install Steel Arch Pipe Liner, Location No. 1	\$3,780.00		\$2,500.00	\$682,500.00		\$1,774,500.00	\$19,500.00	\$5,323,500.00	
46 499-N0152	148 L.F.	Install Steel Arch Pipe Liner, Location No. 2	\$3,720.00	· ·	\$2,600.00	\$384,800.00	\$7,250.00	\$1,073,000.00	\$18,250.00	\$2,701,000.00	
47 499-N0153	192 L.F.	Install Steel Arch Pipe Liner, Location No. 3	\$3,875.00	· ·	\$2,700.00	\$518,400.00	\$5,800.00	\$1,113,600.00	\$18,250.00	\$3,504,000.00	
48 499-N0154	150 L.F.	Install Steel Arch Pipe Liner, Location No. 4	\$3,900.00		\$2,700.00	\$405,000.00	\$5,900.00	\$885,000.00	\$18,000.00	\$2,700,000.00	
49 499-N0155	910,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 1 (No-Bid)	\$1.00		\$1.00	\$910,000.00		\$910,000.00	\$1.00	\$910,000.00	
50 499-N0156	530,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 2 (No-Bid)	\$1.00		\$1.00			\$530,000.00	\$1.00	\$530,000.00	
51 499-N0157	475,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 3 (No-Bid)	\$1.00		\$1.00	\$475,000.00		\$475,000.00	\$1.00	\$475,000.00	
52 499-N0158	400,000.00 USD	Furnish Steel Arch Pipe Liner, Location No. 4 (No-Bid)	\$1.00		\$1.00	\$400,000.00	\$1.00	\$400,000.00	\$1.00	\$400,000.00	
53 502-0004	150 L.F.	18 Inch HDPE Pipe	\$350.00		\$190.00			\$15,000.00	\$200.00	\$30,000.00	
54 502-0005	60 L.F.	15 in Reinforced Concrete Pipe, Class III	\$650.00		\$225.00	\$13,500.00		\$12,000.00	\$200.00	\$12,000.00	
55 502-0006	635 L.F.	18 in Reinforced Concrete Pipe, Class III	\$225.00	· ·	\$175.00	\$111,125.00	\$200.00	\$127,000.00	\$225.00	\$142,875.00	
56 502-0029	3 Each	18 Inch HDPE Flared End Section	\$1,900.00		\$2,500.00	\$7,500.00	\$2,200.00	\$6,600.00	\$2,500.00	\$7,500.00	
57 502-0030	270 L.F.	15 Inch HDPE Pipe, Type C	\$260.00		\$280.00	\$75,600.00		\$28,350.00	\$225.00	\$60,750.00	
58 502-0040	60.00 L.F.	18 Inch HDPE Pipe, Type C	\$320.00	\$19,200.00	\$280.00	\$16,800.00	\$135.00	\$8,100.00	\$225.00	\$13,500.00	

		BaseLine Item Detail George Harms Construction Co., In		onstruction Co., Inc.	Mount Const	ruction Co., Inc.	Green Construction, Inc.		Montana Construction Corp Inc.	
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
59 502-0042	85.00 L.F.	30 Inch Ductile Iron Pipe	\$755.00	\$64,175.00	\$600.00	\$51,000.00	\$400.00	\$34,000.00	\$750.00	\$63,750.00
60 503-0005	6 Each	Reconstructed Inlet, Type D2, Using Existing Grate and Frame	\$4,700.00	\$28,200.00	\$3,650.00	\$21,900.00	\$3,500.00	\$21,000.00	\$6,000.00	\$36,000.00
61 503-0011	3 Each	Manhole, Type P-1	\$16,500.00	\$49,500.00	\$14,400.00	\$43,200.00	\$6,750.00	\$20,250.00	\$12,000.00	\$36,000.00
62 503-0023	4 Each	Reconstructed Inlet, Type D3, Using Existing Grate And Frame	\$2,600.00	\$10,400.00	\$3,650.00	\$14,600.00	\$3,000.00	\$12,000.00	\$7,000.00	\$28,000.00
63 503-0032	1 Each	Reconstructed Manhole, Type P-1, Using Existing Cover And Frame	\$3,500.00	\$3,500.00	\$3,650.00	\$3,650.00	\$3,000.00	\$3,000.00	\$8,500.00	\$8,500.00
64 503-0042	1 Each	Reconstructed Manhole, Type P-1, Using New Cover and Frame	\$8,800.00	\$8,800.00	\$4,550.00	\$4,550.00	\$4,000.00	\$4,000.00	\$9,000.00	\$9,000.00
65 504-0011	125.00 C.Y.	Incidental Concrete	\$870.00	\$108,750.00	\$775.00	\$96,875.00	\$450.00	\$56,250.00	\$1,200.00	\$150,000.00
66 506-0001	310.00 L.F.	Concrete Curb, Type A	\$60.00	\$18,600.00	\$52.00	\$16,120.00	\$80.00	\$24,800.00	\$45.00	\$13,950.00
67 510-0010	6 Each	Beam Guide Rail Blockout	\$26.00	\$156.00	\$28.00	\$168.00	\$15.00	\$90.00	\$51.00	\$306.00
68 510-0031	1,840.00 L.F.	Removal of Beam Guide Rail	\$3.25	\$5,980.00	\$3.00	\$5,520.00	\$4.00	\$7,360.00	\$9.00	\$16,560.00
69 510-N0080	1,700.00 L.F.	Beam Guide Rail, Pre-Stained	\$68.00	\$115,600.00	\$70.00	\$119,000.00	\$90.00	\$153,000.00	\$65.00	\$110,500.00
70 510-N0082	3 Each	Beam Guide Rail Anchorage, Pre-Stained	\$2,550.00	\$7,650.00	\$2,500.00	\$7,500.00	\$4,100.00	\$12,300.00	\$2,800.00	\$8,400.00
71 510-N0087	6 Each	Beam Guide Rail Post, Pre-stained	\$185.00	\$1,110.00	\$200.00	\$1,200.00	\$210.00	\$1,260.00	\$175.00	\$1,050.00
72 510-N0088	3 Each	Tangent Guide Rail Terminal, Pre-Stained	\$6,200.00	\$18,600.00	\$6,500.00	\$19,500.00	\$7,500.00	\$22,500.00	\$6,350.00	\$19,050.00
73 510-N0089	25.00 L.F.	Beam Guide Rail Element, Pre-Stained	\$41.00	\$1,025.00	\$45.00	\$1,125.00	\$70.00	\$1,750.00	\$60.00	\$1,500.00
74 515-0003	6.00 Each	Delineator, Type PA-W	\$87.00	\$522.00	\$170.00	\$1,020.00	\$180.00	\$1,080.00	\$150.00	\$900.00
75 515-0006	7.00 Each	Delineator, Type PA-Y	\$87.00	•	\$170.00	\$1,190.00	\$180.00	\$1,260.00	\$150.00	\$1,050.00
76 516-0005	3,885.00 L.F.	Striping and Marking Removal, Hydromilling	\$0.95	\$3,690.75	\$1.00	\$3,885.00	\$2.10	\$8,158.50	\$1.75	\$6,798.75
77 516-0006	160 L.F.	Striping and Marking Removal, Mechanical	\$2.00	•	· ·	· ·	\$2.10	\$336.00	\$1.75	\$280.00
78 516-0008	1,935.00 L.F.	Traffic Stripes, Long-Life, Epoxy Resin	\$1.40	. ,			\$2.10	\$4,063.50	\$1.85	\$3,579.75
79 516-0009	2,775.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$1.30				\$2.10	\$5,827.50	\$1.85	\$5,133.75
80 516-0013	130 S.F.	Traffic Markings, Symbols, Long-Life, Thermoplastic	\$11.00				\$12.00	\$1,560.00	\$10.00	\$1,300.00
81 517-0002	1 L.S.	Furnish Field Office, Type B	\$55,000.00				\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00
82 517-0008		Maintain Field Office, Type B	\$1,300.00				\$5,500.00	\$132,000.00	\$1,750.00	\$42,000.00
83 517-0013	25,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00				\$1.00	\$25,000.00	\$1.00	\$25,000.00
84 522-0001		Test Pits	\$670.00				\$750.00	\$15,000.00	\$1.00	\$20.00
85 525-0005	1 Each	Mile Marker, Type RP	\$310.00	•		· ·	\$300.00	\$300.00	\$250.00	\$250.00
86 525-0006	6 Each	Mile Marker, Type MP	\$310.00				\$300.00	\$1,800.00	\$250.00	\$1,500.00
87 532-0001	800,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00				\$1.00	\$800,000.00	\$1.00	\$800,000.00
88 599-N0047	680,000.00 USD	Polyurethane Grout (No-Bid)	\$1.00		· ·	\$680,000.00	\$1.00	\$680,000.00	\$1.00	\$680,000.00
89 603-0014	1.00 L.S.	Temporary Lighting Systems	\$25,000.00				\$125,000.00	\$125,000.00	\$25,000.00	\$25,000.00
90 703-0001	17,535.00 S.Y.	Topsoil	\$6.75							\$61,372.50
91 704-0001	8,435.00 S.Y.	Seeding, Type A	\$2.60							\$21,087.50
92 704-0002	5,520.00 S.Y.	Seeding, Type B	\$2.50						•	\$13,248.00
93 704-0005	330 S.Y.	Seeding, Type W	\$2.00			•				\$660.00
94 704-0013	3,250.00 S.Y.	Seeding, Type P	\$2.80							\$8,775.00
95 705-0007		Planting, Red Maple (Acer Rubrum)	\$120.00				·		·	\$14,220.00
96 705-0008	120 Each	Planting, Sweetgum (Liquidambar Styraciflua)	\$120.00							\$14,196.00
97 705-0025		Planting, Blackgum (Nyssa Sylvatica)	\$120.00							\$14,220.00
98 706-0001	3,090.00 S.Y.	Permanent Soil Stabilization Matting	\$6.00							\$17,458.50
99 706-0002	3,860.00 S.Y.	Temporary Soil Stabilization Matting	\$4.25							\$15,247.00
100 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$35,000.00							\$75,000.00
101 801-0002	3,140.00 L.F. 3,140.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$30.00							\$235,500.00
102 801-0003 103 801-0007	•	Placing and Removing Precast Concrete Construction Barrier Traffic Protection Patrol, Part-Time	\$35.00 \$150.00		·		•		· ·	\$78,500.00 \$148,120.00
103 801-0007	3 Each	Furnishing Portable Variable Message Sign	\$2,500.00							\$148,120.00
105 801-0013	7 Each	Furnishing Truck with Mounted Attenuator	\$6,500.00							\$3.00 \$7.00
106 801-0015		Repair Truck Mounted Impact Attenuators	\$1,900.00							\$7.00
100 801-0013	7 Each	nepair Truck Mounteu Impact Attenuators	\$1,500.00	7 313,300.00	, \$300.00	, 55,500.00	, 50.01	. 30.07	\$1.00	\$7.00
107 801-0021		Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24 Inch Wide	\$8,000.00		\$25,000.00	\$175,000.00				\$7.00
108 801-0022	7 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$12,500.00							\$7.00
109 801-0023	16 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$1,300.00							\$16.00
110 803-0032	20,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
111 803-N0001	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$95,000.00	\$95,000.00 \$14,171,598.00		\$60,000.00 \$14,769,431.00		\$250,000.00 \$16,756,477.59		\$200,000.00 \$24,753,500.00